mean # PXL hits vs eta

<pixel hits>

Ratio

.....................................................................

1.

=

0.95

ittt

0 1T 2 3

n

| mean # PXL Layers with measurement vs eta

<pixel layers>

4.5

TTTTTTTT
Y ]
-
N

=2

<strip hits>

Ratio

—— DQM_TT__mKkFit-DQM_mod-127

—=— DQM_TT__mkFit-DQM_original-0
—e— DQM_TT__mkFit-DQM_original-127

14

12

10

1Q

1.05f-

-
L=
e ==
%E
=
DT
e
P

0.95

<strip layers>

Ratio

= DN W M 01 O N 00 ©

.....................................................................




	Contents
	Page 1


